SRIBESAR—AHEDDE (K= - i@z MARNER

(S HI546 A1BHE)
1. NEREISEASNDAARN
(1 8®H1E0)
(TEEEARALHEEE 1EI81BDES
=4 pa) AEARE D Bogib%
OEARFIBR EME 1 5,730 5157M 5730
% |BNE2 6,410M 5,769 641H
K| ZNES 7,120M 6,408MH 712H8
= |BnEa 7,800 7,020 7809
E2EDS 8,470H 7,623H 847H
e E75E& 1 5,730 5,157M 573M
k| BME2 6,410M 5,769M 641H
3 2NES 7,120MH 6,408 7128
B |znza 7,800 7,020/ 780M
= |lmnEs 8,470H 7,623H 847H
@ng BREERGZIENE 360/ 324/ 36M
EEATNE] O 40M 36H 48
[@RIAEES IR0 1 120M 108H 128
BEERNE %1 180HM 162M 18H
@ NEWEWBWENE I (L2D+@D83%) « « + (D+@) X0.083
@ NEBESHEWBRBNE ] (LERD+@QD2.7%) « + « (D+2) X0.027
O NEW/ESN—IATP v IEZENE (L2D+2Q01.6%) + « « (D+@) X0.016
® O~BICHEXDENE (2.7%) ZNZD - + « (D~ODEST) X1.027=FARSEEt w2
(COMICTRICEDIRE - BEEBNMUBERDZET, )

XE1 BEERNBEEMOHRTIDRRECEDIEREREZREHIDIBSICEELIT,
(1 RICDE60MX183RZRE)
XI2 IWHELD EITEENBCaBBENBRERNET. EROBCEIBEI1 nBCEICENEDD
SIEIECKDIHHNIBZITNXI DT, BADRENE UDHENHDFT,

(BE - BEE) (18®HE20)
X sl MRS R EE Bo&iB%E

DEE w3 E1 R 1,145 300/

FE2 = 1,055 390M

E 3D 1,445MH 795 650

FE IO 85M 1,360M

FE4 = (o] 3¢ 1,4458

BOBIEE w3 X 1R 855M 0

= |B2ERE 485 370/

% B IERED2 855K 485MH 370M

B4R (o] 3¢ 855H

It |51 Bk 851 3209

% B2 R 1171 751M 4200

B |E3RED2 ’ 351 820MH

= |F4ERE (o] 3¢ 1,171H
EROBICESED « @FENZIZEN1 BHIZEDDORBROKEEZDET,

XE3 RE - BEEORBRERXD (B1~4KRE CONTIREZTEIIZS0,



(2% ER - BEROSBREEHEXD (51 ~4E) OBZ]

SIBERE PhiSEiH rE2MH
T BRESRE \

FABKE |- B (UREOHLT\IREEESE, MFEL. ) 28|T22000RE T
BT ERIEER CH DSBS S5

Zomm | DEREN TONEIRRN (5o C. FRlAGE (JFi|PE650MIT
MEREED, ) +BHABRENSONAMT 51B1650/5MBM T

EomED | RSB PUNERIERN (5o C. FalADE GFR|P5550mb K
MERESE, ) +E5PISEEEN'80DMIB1205MBMT | KiB155058MUT

EomED | RSB PUNERIERN CBoC, FalARER (FR|P5500Mb K
WEREED, ) +BHABREN 1205/ 518150075 T

i | CELEmEIISE
- ETRIERR AR S

MEEANBIUIER - REAAPTETENE - MEFORANESNEZ CABOHONHENICIERSERIBER
BBOBPFBEZITL. EROFE1~SEBONWITNACRESNLCHESICE. RE - BREBOBECSBENERE
SNFT, BREREBLZTINT, FULLBEHIFICTEHRIZE0N,

NERIEDBEASNZVRAE Ars0os2CL3)

4N\

X % MOORBN

BFRISRE CBEEOHRIH) =&

BE (fEsRNICTER 1[0 2,000
ERBMRITZSLEEREE 1518 1,000
D357 FBEDMRE e

TLEDELEBU « §5AH

SEUHL :1182,000H
BH5AH - 11 81,0008

ZTDHDERIHGDFRHAH

EXRGDIBLBICKDBIICTED DER

PIVINWMERL (BETUY RRED)

P IVINALDIERKIC DE4,0008

BEEELMBERDEER
XITERIROSBEAN TIRH I SHEME

eSS~
HEROBDDOFICHNDERISIFS,

MBI DFWOEMDHRITE

FlA L ETTEERELkmdpZ D 200
RN L UARIEE150 872 1D 500




AEYDE SBATEE (FEE)

2F F7I\IR
B i
= 3L FB | BFAL
=
(TA) BV
BE BE BE BE g = o
(1A) AN | QAN | (AN EENEZEL 54—
BRa—F—
BE HERE
(1A)
Agssi
B FeEES EH=
N QPN
N)La=— BE3
REE
—=— th &
BE4 SRR —Ls
TFAERKE
E= ] ] B=
QPN BFRE(RKE €PN
I E
(1A)
BE | BE | BE | BE | BE | BE | BE | BE | BE | B=
SkeTas AN AN [ AN [ aN) [ AN | AN | QAN | GA) | AN |(AN)
/N)La=—

1F WA EWEAR—L(BKE-txBES) - TAH—ER

FHEEE 27| %7 |4 | 5| |ZF| = xmrz|
PUIMU 3 (e | T | sz [ x B B B TamEs
% |0 Z S &an[res
BE@A) - = z 0|t
EV
7
3 E =
BE@N) #EE | ;| BEGUA) | BEAA) | BEGA |BR B
s = fEREE
ez BENEXE
Lk EITF 73
BE4A) - AL E Sl
EHE
) th B EBE
BEE@N) HEE
%
B
BEAA)
—ginzE ey (O
BEW@4A) wrar | MU IMUlagolam| iz =
KR = B |
AR B,
BEE@N) (’?% E=@AN) | BE@A) | B2GAA) | BZG@A) | BE@A) E% BEE




